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Quiz Date: 11th May 2020 

Direction (1-5): Study the following information carefully and answer the questions 
given below: 
Among Six city P, Q, R, S, T and V has different number of active cases of the COVID -19 viz. 
2100, 3000, 6400, 7800, 9400, 14400 and recovered cases i.e. 1000, 1500, 3500, 4000, 
6000 and 7000 but not all necessarily in the same order.   
Active cases in city V is not the maximum among all. Active cases in city T is equal to the 
total active cases in city Q and S. Differences between the number of recovered cases in city 
P and R is as same as differences between the number of recovered cases in city P and S. 
Total Active and recovered cases in city P is 11800. Total active and recovered cases in city 
S is not more than 5000. Recovered cases in city Q is more than city V but less than city T.   
 
Q1. What is the number of recovered cases in city S? 
(a) 1500 
(b) 6000 
(c) 7000 
(d) 4000 
(e) None of these 
 
Q2. Which of the following combination is true, as per the given information? 
(a) Q-6400-4000 
(b) S-3000-1000 
(c) V-2100-6000 
(d) T-9400-7000 
(e) None is true 
 
Q3. In which of the following city has maximum actives cases? 
(a) P 
(b) T 
(c) R 
(d) Q 
(e) S 
 
Q4. If P is related to 4000 and S is related to 1000 in the same way T is related which of the 
following one? 
(a) 6000 
(b) 3500 
(c) 7000 
(d) 1500 
(e) None of these 
 
Q5. The total recovered cases in city P and city Q is same as the recovered cases in city V 
and city ____? 
(a) S 
(b) Q 
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(c) Both (a) and (b) 
(d) T 
(e) None of these 
 
Directions (6-10): In each of the questions given below are followed by two 
statements I and II. You have to determine whether the data given in the statements 
is sufficient to answer the question or not. Read both the statements and Answer: 
 
Q6. Are A, B and C in a straight line? 
I. B is 2 meters north of D. C is 5 meters east of B. E is west of D. A is 2 meters north of E. 
II. F is 2 meters south of C. G is 10 meters west of F. D is exactly in between G and F. B is 2 
meters north of D. A is 4 meters either in east or west of B. 
(a) if the data given in statement I is sufficient to answer the question whereas data given 
only in statement II is not sufficient to answer the question. 
(b) if the data given only in statement II is sufficient to answer the question whereas data 
given only in statement I is not sufficient to answer the question. 
(c) if the data given only in either statement I or statement II is sufficient to answer the 
question. 
(d) if the combined data given in statement I and statement II are not sufficient to answer 
the question. 
(e) if the combined data given in statement I and statement II are necessary to answer the 
question. 
 
Q7. P, Q, R, S and T are sitting around a circular table facing the center. Who among them is 
sitting on the immediate right of S? 
I. P is sitting second to the right of S. R and T are immediate neighbors of P. 
II. Q is sitting second to the right of P. Q is sitting next to both S and R. 
(a) if the data given in statement I is sufficient to answer the question whereas data given 
only in statement II is not sufficient to answer the question. 
(b) if the data given only in statement II is sufficient to answer the question whereas data 
given only in statement I is not sufficient to answer the question. 
(c) if the data given only in either statement I or statement II is sufficient to answer the 
question. 
(d) if the combined data given in statement I and statement II are not sufficient to answer 
the question. 
(e) if the combined data given in statement I and statement II are necessary to answer the 
question. 
 
Q8. M, O, F, S, R, U are used to form a meaningful word. Which letter is 3rd from the left end? 
I. F is at one of the end. Two letters are between F and U, which is immediate right to M. 
II. S is immediate right to U but not next to F. O neither immediate right nor immediate left 
of, U and M. 
(a) if the data given in statement I is sufficient to answer the question whereas data given 
only in statement II is not sufficient to answer the question. 
(b) if the data given only in statement II is sufficient to answer the question whereas data 
given only in statement I is not sufficient to answer the question. 
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(c) if the data given only in either statement I or statement II is sufficient to answer the 
question. 
(d) if the combined data given in statement I and statement II are not sufficient to answer 
the question. 
(e) if the combined data given in statement I and statement II are necessary to answer the 
question. 
 
Q9. How many sisters does Mansi have? (Mansi is a girl.) 
I. Sheetal, mother of Mansi, has only three children. 
II. Vandana, mother of Sheetal, has only one child and one grandson. 
(a) if the data given in statement I is sufficient to answer the question whereas data given 
only in statement II is not sufficient to answer the question. 
(b) if the data given only in statement II is sufficient to answer the question whereas data 
given only in statement I is not sufficient to answer the question. 
(c) if the data given only in either statement I or statement II is sufficient to answer the 
question. 
(d) if the combined data given in statement I and statement II are not sufficient to answer 
the question. 
(e) if the combined data given in statement I and statement II are necessary to answer the 
question. 
 
Q10. Who is the tallest of H, J, K and L? 
I. H is taller than K but shorter than J and L. 
II. Only one person is taller than J. H is only taller than K. 
(a) if the data given in statement I is sufficient to answer the question whereas data given 
only in statement II is not sufficient to answer the question. 
(b) if the data given only in statement II is sufficient to answer the question whereas data 
given only in statement I is not sufficient to answer the question. 
(c) if the data given only in either statement I or statement II is sufficient to answer the 
question. 
(d) if the combined data given in statement I and statement II are not sufficient to answer 
the question. 
(e) if the combined data given in statement I and statement II are necessary to answer the 
question. 
 
Q11. The economy grew by 4.7 per cent in the quarter ending December, which was slightly 
better than the average of 4.6 per cent during the first half of the year. 
Which of the following assumptions is implicit in the above statement? (An 
assumption is something supposed or taken for granted.  
(a) Growth figures are released quarterly. 
(b) Eight core industries grew by just 1.6%. 
(c) There is an unexpected measure of uncertainty in the decision making. 
(d) Export grew at a slower pace during the three months up to January. 
(e) GDP growth will figure prominently in the General Elections. 
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Q12. It is astounding that 81.4 crore voters are eligible to exercise their franchise through 
9.13 lakh polling stations and 10 crore more voters have joined the ranks of voters since 
the election five years ago. 
Which of the following can be inferred from the above situation?  
(a) The Election Commission deserves applause for being in charge of a complex service.  
(b) The Election Commission must be given credit for the vote share increase in the 
recently held elections. 
(c) All the parties will gain in their vote share with the increase in number. 
(d) The Election Commission plays a vital role in the India political system. 
(e) None of these 
 
Directions (13-15): In each of the questions below. Some statements are given 
followed by conclusions/group of conclusions numbered I and II. You have to assume 
all the statements to be true even if they seem to be at variance from the commonly 
known facts and then decide which of the given two conclusions logically follows 
from the information given in the statements. 
 
Q13. Statement: Only a few Tie are Brown.  
  Only a few Brown are Coffee.  
  No Coffee is Hot.  
       Conclusion: I. Some tie is coffee is a possibility. 
  II. Some brown are not hot.  
(a) If only conclusion I follows 
(b) If only conclusion II follows 
(c) If either I or II follows 
(d) If neither I nor II follows 
(e) If both I and II follow 
 
Q14. Statement:  Some fruits are oranges.  
All oranges are apples.   
Some oranges are not mangoes. 
     Conclusion: I. Some apples are not mangoes. 
  II. Some fruits is Apple is a possibility. 
(a) If only conclusion I follows 
(b) If only conclusion II follows 
(c) If either I or II follows 
(d) If neither I nor II follows 
(e) If both I and II follow 
 
Q15. Statement:  Only milk is water.  
Some milk is juice.  
Only a few orange is juice. 
       Conclusion: I. Some water is juice is a possibility. 
  II. No orange is water. 
(a) If only conclusion I follows 
(b) If only conclusion II follows 
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(c) If either I or II follows 
(d) If neither I nor II follows 
(e) If both I and II follow 
 

 
 

Solutions 
Solutions (1-5): 
Sol. 

City Active  
Cases 

Recovered  
Cases 

P 7800 4000 
Q 6400 3500 
R 14400 7000 
S 3000 1000 
T 9400 6000 
V 2100 1500 

 
S1. Ans. (e) 
S2. Ans. (b) 
S3. Ans. (c) 
S4. Ans. (a) 
S5. Ans. (d) 
 
Solutions (6-10): 
S6. Ans.(c)  
Sol. From either of the statements we can find that A, B and C are in a straight line. 
S7. Ans.(e)  
Sol. T is sitting to the immediate right of S. 
S8. Ans.(d)  
Sol.  
S9. Ans.(e)  
Sol. From both statements, we can find that Mansi have one sister. 
S10. Ans.(b)  
Sol. From only 2nd statement, we can find that L is tallest among all.  
 
S11. Ans.(a) A quarter is the common denomination of the periods mentioned here. 
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S12. Ans.(a) The passage points to the efforts taken by the Election commission in adding 
people’s names in voter’s lists. 
 
Solutions (13-15): 
S13.Ans.(e) 

Sol.  
 
S14.Ans.(a) 

Sol.  
S15.Ans.(b) 

Sol.  
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